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PREVIEW QUESTION BANK(Dual)

No. ID
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Objective Question

904001 e following table shows the percentage (%) distribution of children in five different villages (V1 to V5) and
percentage (%) distribution of children attending school from these five villages. Total number of children in
all the five villages is 5800 and total number of children attending school from these five villages is 3600.
Based on the data m the table. answer the questions that follow :

. 528
. 508
. 518
. 628

Village - wise percentage distribution of children

Question Body and Alternatives Marks

Percentage Distribution of

] 1 UMH-IR W< s
de B Ulded
- P! BT | T S a1 bl Bl
(5800) T (3600)
Vi1 16% 13%
V2 24% 28%
V3 11% 14%
V4 18% 21%
V3 31% 22%
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528
508
. 518
628

Negativ
Marks

Villige Number of children (5800) Numbm;g :}E;;dél ‘ggoa)ttcndmg
vy 16% 15%
v, 24% 28%
Vs 11% 14%
Vy 18% 21%
Vs 31% 22%

What is the total number of children who do not attend school from the village V2 and V3 together?
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Objective Question

2 |P04002) e following table shows the percentage (%) distribution of children in five different villages (V1 to V5) and
percentage (%) distribution of children attending school from these five villages. Total number of children in
all the five villages is 5800 and total number of children attending school from these five villages is 3600.
Based on the data in the table, answer the questions that follow :

Village - wise percentage distribution of children

Percentage Distribution of

Vitlige Number of children (5800) Nlunba:gsﬁ;&dérggoeaﬂcndmg
Vi 16% 15%
v, 24% 28%
V3 11% 14%
Vy 18% 21%
Vs 31% 22%
The number of children attending school from village V1 is approximately % of the total number of

children from that village.

S O
L
Ga

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa2312.16987/63_Live_Psyol_B1_E_1-150.html 2/106



6/15/23, 7:23 PM

63_Live_Psyol_B1_E_1-150.html

ffeRaa afere! & gfg fir= 71ial (@dh 3 dts) 3 STl & ded o Jia=id G171 711 &, T 81 59 Ui= Tl & 9 d o aTd arad
& deA 31 1t wiosra o <=1t 31 8| i 1ia © STae! ot o @A 5800 © SR 34 UGl 16l ¥ W d aHard Sidsl &1 oo 9
3600 T | TITT & 3T MY st & STUR TR < fau U=l & I iy :

D] DT JTH-aR Wiaed dcH
g @1 Ula=rd
g ST Bl EE | e EEEEENEE]
(5800) =T (3600)
Vi 16% 15%
V2 24% 28%
Vi 11% 14%
V4 18% 21%
V3 31% 22%

K

o

|
:A2
A3
fx4

4

Objective Question
3 904003
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The following table shows the percentage (%) distribution of children i five different villages (V1 to V5) and
percentage (%) distribution of children attending school from these five villages. Total number of children in
all the five villages iz 5800 and total number of children attending school from these five villages is 3600.
Based on the data in the table. answer the questions that follow :

Village - wise percentage distribution of children

Percentage Distribution of

Village ) . Number of children attending
Number of children (5800) school (3600)
Vi 16% 15%
V, 24% 28%
V3 11% 14%
Vy 18% 21%
Vs 31% 22%

What is the average number of children who do net attend school from village V2, V3 and V5 together?

<512
. 508
. 540
. 532
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Vi1 16% 13%
V2 24% 28%
Vi 11% 14%
V4 18% 21%
V3 31% 22%
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Objective Question

904004/ The following table shows the percentage (%) distribution of children in five different villages (V1 to V5) and
percentage (%) distribution of children attending school from these five villages. Total number of children in
all the five villages is 5800 and total number of children attending school from these five villages is 3600.
Based on the data in the table, answer the questions that follow :

. 118
. 124
. 122
120

Vitlige Number of children (5800)

Village - wise percentage distribution of children

Percentage Distribution of
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Number of children attending

school (3600)
Vi 16% 15%
v, 24% 28%
V3 11% 14%
Vy 18% 21%
Vs 31% 22%
The total number of children from the village V4 and V5 together is approximately % more than the

total number of children who do not attend school from the same two villages.
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Objective Question

3 904005 e following table shows the percentage (%) distribution of children in five different villages (V1 to V5) and

percentage (%) distribution of children attending school from these five villages. Total number of children in
all the five villages is 5800 and total number of children attending school from these five villages is 3600.
Based on the data in the table. answer the questions that follow :

Village - wise percentage distribution of children

Percentage Distribution of
Village Nurber of children (5800) Number of children attending

school (3600)
vy 16% 15%
V, 24% 28%
Vs 11% 14%
Vy 18% 21%
Ve 31% 22%

What is the ratio of the total number of children from village V4 to the number of children attending school
from the same village?

1
2,
3.29:21
4. 31:23
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Objective Question
6 904006 which of the following are the examples of scaffolding?

A. Providing hints and clues to solve a problem.

B. Allowing the students to figure out the problem on their own.

C. Providing the students with all the answers and solutions to a problem.
D. Asking leading questions to guide the students thinking.

Choose the most appropriate answer from the options given below :

B and C only
Aand D only
. B and D only
A B.CandD

WHieeT & Jarery g T a s 9§ 2
A. gt goer & Uy & iy Hod Ud 9 UeH Sl
B. faenfifai &1 39 3mg ¥ guwred &1 8@ @R &1

c. foenfial =1 ot Taen & 94t 3R U9 91U UeH ST
D. fqenfifal & fiae &1 < Rd o= & fau 3o vy 9@
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Lo

1. ¥aaB AR C
2.%ad AR D
3. %AW B 3R D
4.A.B.C3RD

Al
H A2

A3 5

Aty

4

Objective Question
7 904007
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Which of the following are the humanistic approaches to learning?

A. It emphasises on self-motivation for better learning.

B. Its emphasis is on learning at the higher level

C. It fosters curiosity.

D. It increases learner's reactivity.

E. It believes that learning becomes effective when it is need-based.

Choose the most appropriate answer from the options given below :

1. A and D only
2.B. C and E only
3.A.B.C.DandE
4. B and D only

T & Tadaet U Feffea § ¥ e 38 2
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B. U1 90 IR TR & AR R E
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Al

A2
2

|

Ay

4

Objective Question

8 904008 which of the following is an example of innovative approach to evaluation systems?

. Norm - referenced testing
. Peer Evaluation

. Standardized testing

. Traditional grading

(e YUITE! & Aar=R] SURTH &1 Jalexvl FafdiiEd § S S 9 g 2

b =

L

1. AFcs-afifd Tfem
2. GHGE Hedidh

3. Q1P URIET
4. URURS UfST

Al
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Objective Question

9 904009 swayamprabha, channel no - 08 (Physical sciences. Mathematics. Physics. Chemistry and related subjects)

1s named as -

1. Vageesh

2. Saaraswat
3. Aryabhatt
4. Prabandhan

gy H, 99a .08 (Hifdw &g, i, ifaet, [aoHRRd e geii v a1 R

anfr
HqEdd
g
PR

o =

-l

Objective Question

10°7904010' yyryich of the following ICT tools are associated with mind mapping?

. Mindmeister

. X-mind

. C-map

. Screen casto - matic
. Adobephotoshop

mgowe

Choose the correct answer from the options given below :

B and D only
. A.Band C only
.A. Cand E only
. D and E only

b =

Lo
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Objective Question
11 904011 Identify the disadvantages of closed ended questions in survey research

A. Tt is difficult to make forced - choice answers exhaustive.
B. There is loss of spontaneity in respondent's answers.
C. They are time consuming for interviewers to administer.

Choose the correct answer from the options given below :

. A and B only
B and C only
Aand C only
A Band C

e Y 7 S Wyl 3 Hidl B ggd S ;

A. STY YOI IR 99 B! Gaiyul &4 & S8 giclt 21
B. T4 SRS & IWRI § WIHIGHal ST el |
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Objective Question

121904012 Given below are two statements :
Statement I : Review of literature helps the researcher with the interpretation of his/her findings.
Statement II : Review of literature is not of any help in learning different theoretical and methodological
approaches to your research area.
In the light of the above statements. choose the correct answer from the options given below :

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true

TR Py umue:

DU : TIed &1 GHIET edHdl &1 9% 5ms] & are / fHda # gerad sl g

DY 11 : IS B THIET 39 Y &= faftm S<ifas sik wisfieta Surmi & sty d @i
eI o] el 3

SWRIT B & el o, - 3T T [debedl § 3§ 9ad Sugad Gtk Dl 90+ BIeid:

b =

e

 PYF1 AR 1A TT B

P AR IS SRR

. PYT 1A 8, Afh PUT 11 3F B
. PYT 1 T B, A pYT 1 g B
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Objective Question

131904013/ Giv-en below are two statements :
Statement I : Content analysis is an approach to the analysis of documents and texts that seeks to analyze them
in qualitative terms.
Statement I : Content analysis is a very transparent research method.
In the light of the above statements. choose the correct answer from the options given below :

. Both Statement I and Statement II are true
. Both Statement I and Statement IT are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true

b =

o
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Objective Question

14 |904014) yp you want to conclude that a given variable has a causal relation with a second variable. you have to be able

to rule out other possible causal variables. The principle of causation involved here is the -

1. Causal ambiguity rule

2. Temporal precedence rule
3. Covariance rule

4. Internal validity rule

Al 39 g e T 91ed © 1 3T T8 =R 1 R TR & 91N PRUTES Sa¢ 8. T SIS g3
Y PRUTES 91 &I @IS B § g0 81 611 | 398 THIaY S-SR Hee § -

1. PRUTEAD gyl a9
2. PIice Jd Waxiga® Ham
3. I8-UIR0

4, 3ffaRke qear Fam

1
A2
2
3

4

Objective Question
15 904015
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Which of the following diagrams would be useful in depicting the median value in the data ?

. Bar chart

. Box plot

. Pie chart

. Scatter plot

STe1 § ATfEe] A1 & Haikid $3- § HEigd 3 9 SH-91 3G (SAHH) STant § 2

B R

GR AR

. ST @I
OIS 91

.y iftfd wire

b =

V)

Al
H A2

A3

Ay
4
Objective Question

161904016 The audiences of digital media are affected by

. Limited geographical area
. Fragmentation

3. Passive messages

4. Tdentity - crisis

f&forea Hifsar & siarmn Fefifed 7 3 e yHifaa gld § 2

b =

1. Tiftg vimifers &3
2. Ffgaan

3. Ffspg g

4, g BT JhT

Objective Question
17 1904017
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In films, close-ups are termed as -

. Pro-active paradigms
. Static paradigms

. Visual paradigms

. Altered paradigms

el o RIS - 3 1 &1 T oIl § 2

B

ffagfepy ufaa=
RRyfeaE
. TR yiaqH
. gRkafda ufqem

b =

V)

fAl
.AZ
| |®
54

Objective Question

18 1904018 yhich of the following are the distinguishable features of Buddhist concept of communication?

A, Unidirectional

B. Process - oriented
C. Competitiveness

D. Creation of meaning
E. Behaviour - centred

Choose the correct answer from the options given below :

1. A.B. C only
2.B.C.D ounly
3.C.D.E only
4. B.D. E only

19 fau ¢ fasedl & T 9el IR &1 =g Sl :

1. Pad A.B.C
2. $dd B, C.D
3.%dd C.D.E
4, $0d B.D.E

Al
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Objective Question

191904019/ Giv-en below are two statements :
Statement I : The study of mass communication process is characterised by a macroscopic view of messages.
Statement IT : Semiology secks a microscopic view of deconstructing messages.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement IT is true

TRG P RTmE:

BYA 1 : T SR URHUT D1 S0 ol & gga eip-BI0 GRI Ao giar o
HUF 11 - Yo fagT TS & FaTR= o7 YA e aamrdh 8|

SWIK S & Hdie d, - JU Y fadbedl § 3 969 Sugad IR &1 98- Bifg:

 HYF 1SR 11 EH T E

HYA 1SR GHT S

. PYT 1 TA B, A YT 11 3 B
DY 1 AT B, AP PYT 1 9 B

o =

S V)

A2
A3

Ay

4
Objective Question

201904020 Given below are two statements :
Statement I : The words - communication, community and communion are etymologically related.
Statement I : As human society developed more and more simple systems of communication emerged.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4, Statement I is false but Statement IT 1s true
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Objective Question

21904021 1 4 certain coding language. 'KANPUR' is coded as TZMOTQ'". How MUMBALT' will be coded in that
language?

.LTLAZH
. NVNZBH
. NVNCBH
.LTLZBH

i fell eI 1, KANPUR' @3l TZMOTQ' & U H Picd fobdl 711 8| @1 'MUMBAT 1 I4T 111
Y pled e s 2

a =

e d

1.LTLAZH
2. NVNZBH
3. NVNCBH
4. LTLZBH

H Al
A2
A3

Ay
4

Objective Question
22 904022
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When 18 is included in a list of natural numbers, the average of these numbers is increased by 2. When 8§ is
included in this new list of natural numbers, the average of these numbers in the new list remains the same. If
there are N natural numbers in the original list of numbers and their average is X, find the value of N and X,
respectively.

R
=
Lh S 68 O

Afe I1grd Seel @1 Ue e | 18 9IS e o1an § d 57 e 1 $ivd 2 §¢ J1a1 3 | a1 Wid
Tt 1 59 7S T 4 8 e a1 S 2, d1 5 <Rersd P oied 7S 9§ ad e ed 81 A
TRl B ga G Wed SRel N § 3R SHPT SiNd X B, Bl HHRE: N SR X BT HH J1d S -

ok
o 00 O A
S G0 O

Objective Question
23 |P04023)) o girl walks 12 kms south from her house. turns left and walks 26 kms, again turns left and walks 37 kms.

Again she turns right and walks 6 kms to reach her office. In which direction is the office of the girl from her
house?

. South-East

. South

. North-East

4. South-west

U TS| 39 OR  SE1 1 3R 12 Sbw Feichl g, a1 &1d ool § 3R 26 o =erc g, = &1l 3R
TSl g 3R 37 forll ol | TR a8 qifeT SR gSdl 8 quT 3(u- Sriad ugd- o o 6 febHl =erd 3 |
deP! B Ty 39 R I g feunde o

b =

S

1. Sfau-gd

2. Gigm

3. BTR-

4. Bi&UURay

Al

A2
2
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Objective Question

20,62, 189,571, 1718, ?

5160
2160
. 3160
. 4660

[

)

a5 TR 1A IO off =il &t 715 4@l ¥ YRarad (g (7) S Aioedifud & gadi @ -

20,62, 189,571,1718. 7

. 5160
2160
3160
4660

[

S T

H Al
A2
A3

Ay

4

Objective Question

loss.

fa—

18% profit

162% loss
3

. 18% loss

%
162 % profit

| B

L

afg 30 Txgait @1 fasy 9w 25 axgell & FU g S SR § | T @Y a1 g1 &1 wiawd 1d Sifo -

1. 18% @Y
: m%"xu ETT:rT
. 18% 8IF

2
: mi"xu oy

(B8]

L

Al
1

EF

63_Live_Psyol_B1_E_1-150.html

24 904024 £ind the number that can replace question mark (7) in the series given below :

25 904025 Tphe selling price of 30 articles is equal to the purchase price of 25 articles. Find the percentage of profit or
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A3

Ay

4

Objective Question

26904026 1f fhe statement "All saints and materialists” is given as true which of the following statements could be

inferred to be true?

. No saints are materialists.

. Some saints are materialists.

. Some saints are not materialists.
4. Some materialists are not saints.

gfe Hy= <quft Ia Yifdeamac! o el g, d FEiad 8 9 ®1F 91 $YF It 3H1 o 95l g 2

R

1. B oft a Hifapamard 7 2 |
2. S Ud Yifdsarargl § |

3. P Yd Hildearadl 981 § |
4. 98 Widsdad] 9 761 8 |

2

Objective Question

27904027 \Which of the following statements are logically equivalent?

A. All saints are materialists.

B. No saints are non-materialists.

C. All non-materialists are non-saints.
D. No materialists are saints.

Choose the most appropriate answer from the options given below :

.B. C and D only
Aand C only
. Aand B only
.A. Band C only

R
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frfofEd & 9 o 9 Hu aifde =P 9 Iaga s 2
A it T Yifgediardl € |
B. P o dd TR-ifgedard 78 g |
c. gufi IRfiwdard IlRdd g |
D. &I Ut Wfaeamac Gd gl g |

= fau ¢ fasedl ® ¥ gad Sugad SR &1 994 B

A2

A3

~

1

Objective Question

4

28 1904028 wWhich of the following statements are so related that they cannot both be false, though they can both be true?

A. Some sainfs are materialists.

B. All saints are materialists.

C. No saints are materialists.

D. Some saints are not materialists.

Choose the correct answer from the options given below :

Aand C only
Aand D only
.CandD only
. B and D only

fefatad 3 9 o9 S oy 59 YoR Jad € & 3 aFi Tad ol 81 9ad, g9id d - 9el sl 9Pd § 2
A P8 Yd Yifdearardl § |
B. ofi I ifdsaad g |
c. &g 1ft g Hifdeaard =g g |
D. $© dd Hildeaad gi g |

-t feu e fowedl # @ w6t SR 9 wifon -

2 =

e

1. FadAAdRC
2. A A IRD
3.%adaC AR D
4. %$9dB ARD

Al
1

2

H A2
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Ay

4
Objective Question

291904029 nOf course XYZ political party is going to sweep the polls in the coming elections. Everybody is saying so".
Which informal fallacy is committed in the above statement?

. Appeal to Emotion

. Begging the Question
. Slippery slope

. Appeal to Majority

“q XYZ eI g Pl AR gA1a1 H YR 9g0d Wi 814 aTell ¢ | UHI X ls 5e W81 1" I
HUF T I Il AP deb &y g2

L2 =

a2

1. HATTIE (Uil ¢ SHINM)
2. TG

3. gy eaH

4. 9gHd D1 38

Objective Question

301904030/ napy things are visible. because they are knowable." which fallacy is committed in the above statement
according to Classical Indian School of Logic (Nyaya)

. Sadharana
. Anupasamhari
. Asadharana

. Viruddha
% oft il 22 §. 1T 3 39 § 1° FaIRI®! YR 96 Hd (M) F SUR Sad HYH 8 HH 91 dd 4y

La =

Lo

IR0

b =

. HHTHRU

Al
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Objective Question

311904031 which of the following pair of acronym and its expansion is incorrectly matched?

1. GPS - Global Positioning System

2. GSM - Global System for Management

3. SIM - Subscriber Identity Module

4. Wimax - Worldwide Interoperability for Microwave Access

frefaRad 4 9§ forg ufvanll weg SR 59 fowaR &1 9@ 7Tad 39 3 gafad g 2

1. SIUg-Taied grei=i- Reed
2. ST aU-TAed ReH BR J-oH<
3. TS UH-HehIger Hgsice] Aisd

4. TTEHT - ITS SORIIRISIIC] BR HIgspIda Uady

Objective Question

321904032 what does the following MS-EXCEL formula do ?

= SUM (Sheetl:Sheet4!D18)

. It adds data from all D18 cells in sheetl. sheet2. sheet3 and sheet4

. It adds data from cell D18 of sheetl and cell D18 of Sheet4

. It adds all data in the range A1:D18 in sheetl, sheet2, sheet3 and sheetd
4, It adds data from cell Al of Sheetl and cell D18 of Sheet4

F

METIRET UHTY - Uad 93 &1 Hedl 62

b =

L¥¥]

-SUM (Sheetl:Sheet4! D18)

1. g i 1, e 2. e 3 siR W 4 (sheetl, sheet2, sheet3 and sheet4) ¥ THI D18 Tdll (Cells) I srer
Srearel

2. Gg YT (sheetl) BT D18 T@(Cell) 3R 2124 (sheetd) T D18 T (Cell) ¥ ST ST 51

3. UEEﬂEl_. Tffe2, T3 R ey (sheetl. sheet2. sheetd and sheet4) T ALDIS B IR @W)ﬁ ekl
SRISSdg |

4. T8 e (sheetl) F Al (Cell) UT 3R T4 (sheetd) T D18 T (Cell) T STeT Sl 5
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Objective Question
33 1904033 Given below are two statements :
Statement I : (11001000), = (C8);5=(200);,
Statement IT : (123)14=(01111011),=(7B)15
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4, Statement I 1s false but Statement IT 1s true.

S Ry R
DY : (11001000, = (C8);5=(200);,
DY : (123),,=(01111011),=(7B); 4
SWIc S & Hefie 1, - f3U Y fadbedi § 9 969 Sugad IR &1 98- Sifig:

PYF 1 AR SH TT L

PYF 1 AR IS SRR

 PYT 1T ¢, AT Y 1 ST B
P AT e, AP YT I Fa B

da W b

Objective Question
34 1904034
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Which of the following statements A-D apply to a laser printer?

A. Tt uses a rotating drum to transfer the image to the paper.
B. It uses powdered toner.

C. It uses nozzles to spray droplets on to the paper.

D. It uses a print head mechanism that moves side to side.

Choose the most appropriate answer from the options given below :

. Aand B only
C and D only
. A and C only
.Band D only

fAfifEd A-D F FPH I U TR R R am ga g »

A. T8 T @1 SIT9 W) SiaRd &3 & o guHeR S0 ST W axdl 6 |
B. U8 UISSXYa] eIk &1 WA axal g

C. T8 BT R fag@! & [SS®H1a oq Aod & W SRl g |

D. Tg fiic 35 damaci & yai &xdl § ol U@ 3R I gusl SR Iadi g |

1 14U Mg fdodl & ¥ el Suga SRk &1 907 By :

L2 =

du Lo

1. $ad A IR B
2.%adaC AR D
3. PAdAIARC
4. P$aAB ARD

H Al
A2
A3

Ay

4

Objective Question

351904035 ope component of the internal memory of a computer is Random Access Memory (RAM). Which of the
following statements are correct about characteristics of RAM?

A. RAM can be read from and written to

B. RAM is volatile memory

C. RAM is temporary storage

D. Modern PCs typically have from 2TB upto 32 TB of RAM

Choose the correct answer from the options given below :

C and D only

. A. B and C only
. Aand B only
A B.CandD

R
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foreft Fogex B 3R AR &1 U Hew SoH TRIT A9 (RAM) B 130 (RAM) F siftaeor & e
¥ FAfared 5 T 3 9 YT 98 82

A.XH (RAM) T UgT i o1 9@ dl & 3R 59 IR foran s s |
B. ¥ (RAM) HRRR ORI § |

C. ¥ (RAM) T HSRUTE |

D. 3MfiF® dielt & grrga: 2 et @ 32 A 313 ®aM) S 1

1= 4T T fasedl § 9 el 9TR 31 994 Pifoy ;

1. ¥ad C AR D
2. Pad A, B AR C
3. Pad A 3R B
4.A,B.C3RD

Al
H A2
A3

Ay

4
Objective Question

36 904036 Given below are two statements :
Statement I : Chlorine is one of the most commonly used and inexpensive chemical disinfectants for water.
Statement IT : Optimum Fluoride levels in drinking water help prevent cavities in children.
In the light of the above statements. choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct

EIEEAC IR R

BY L : TARM ofd DI PG B & (7 Fairee FarT H 1= e quT fewrdt e IR 81
DU 11 : U0 H TERISS 3 SVdd 01 9901 & ardl 3 didel Adp- H Aeg dedi g |

TWRIG HYUA & 3fTaid 0. i 3T T fadedi T 9 a9 Iugdd SR &1 98- BIuIg:

b =

Lo

PYF 1R 1A T B

HYF 1R 1S S R
 PYTITA 8. AT YT 1 3T B
YT 1 U B, A YT 1 A B

[

I E V)

H Al
A2

A3
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Objective Question

371904037 \ihat is the full form of NBOD?

. Neutral Biochemical Oxygen Demand

. Natural Biochemical Oxygen Demand

. Normalised Biochemical Oxygen Demand
. Nitrogenous Biochemical Oxygen Demand

A s S prgef e -

2 =

L

1. Yo IS Hehe TRl fSHTs
2. TR b D A SfeFelior fSHTS
 AHdE=S disied il feuis
ey dlib e d aiieH fgais

JIES Ve

Al
A2
A3

4

Objective Question

38 1904038 | 500t Particles are

. are alzo called black carbon

. are mostly of coarse size range

. are toxic

. contribute in global warming

. can penetrate in to deeper parts of lungs

mgowpe

Choose the correct answer from the options given below :

1. A, B.C.D only
2. A, B.C.E only
3.A.C.D.E only
4.B.C.D.E only
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Hold (Jd) F B0

A. Bl D Dre i HeT ST B

B. 3ifeizrg: Hic 9Ee ¥ H el o

c. fomraa g ® |

D. 3f¥a® IWal (aad aifEm) § areE 2d €
E PHsH R @ To R Iod ¢ |

12 fSu e faeedl O O gl 3R &1 944 Hifoll

1.®Pdd A, B.C.D
2. ®dd A, B.C.E
3. %dd A, C.D.E
4. $dd B, C.D.E

Objective Question

B

. Troposphere
. Stratosphere
. Mesosphere
. Ionosphere

63_Live_Psyol_B1_E_1-150.html

391904039 gz0ne layer which protects us from harmful ultraviolet radiations is situated in

HIGI URd o1l 85 HaMee WRIeT! 30l § gardl &, fRa sl 8 |

Al
H S
A3

A4

b =

RS 5]

IS (QUpIR) o

. qHA™ H8d ((ceepaR) §

. A Sd (F W) °

M-S (A W) §

4

4

Objective Question
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The latest amendment to Montreal protocol is -

. Kigali Amendment

. Nairobi Amendment

. Copenhagen Amendment
. Bangkok Amendment

B R

HIgd Hierdiel 5 e g1 H febar T S € -

1. Tt emes
2. RIS IRe

3. BIITeT guNeH
4. dpTE YA

1

1

A2,
2
A3 5
3
Aty

4

Objective Question

Raja Ram Mohan Roy was responsible for the establishment of

1. Agra college, Agra

2. Hindu College, Kolkata

3. Banaras Sanskrit College. Banaras
4. Serampore College, Serampore

TSl I JigH )19 FEfeiad | 9 foge! we & oy iR 42

. RI B, PRI
AR RCAGE ]

. SRY iPd Dletol, TR
. IRAPR Hlciol, TR

R

Objective Question
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What were the important observations of Education Commission (Pre-Independence) 1882-83 ?

. There is a need to replace the despatch of 1854,

. It is necessary to refashion the general working of Indian universities

. There is also a need for local governments to extend the facilities of general education.

. It is important to fund each college depanding upon staff strength, maintenance expenses and locality
requirements

E. Special grants should be made available to improve the infrastructure of colleges.

Onoe

Choose the correct answer from the options given below :

.A.B. C only
.B.C.D only
.C.D.E only
4. A.D.E only

b =

L¥¥]

18T ST (warei=ard) 1883-83 1w fewfory o off -

A. 1854 B! faTCd & WH | 78 fa9fta 94 3t smawsalg |

B. YRdG fa=afdererdl &1 IH=d Hulcl 9¢ 9id § gre- $1 avgdd] |

C. T TRBRI BT 3414 f7em gfaersi o1 faEdr Ht S g |

D. U PIeiel Bl SHANRY] B Sl SREU o9 qUl RIHY HaRgadisi & YR UR Y=R113 Gl
B HgayUi & |

E. ®lcisll &1 §Had] gfaursti § GuR &3 & oY (a9 /g SUas SRa/Ml o |

1. PAdd A.B.C
2. ®dd B.C.D
3.%dd C.D.E
4. PAdA.D.E

Al

1
A2
2
3
3
Ay

4

Objective Question

43 904043\ fateh List T with List IT

LIST I (Authority / Viceroy)[LIST II (Commission Chairman
A [Lord Ripon 1. |Sarvapalli Radhakrishan
B. [Lord Curzon II. |Thomas Babington Macaulay
C. |William Bentinck III. |W. W. Hunter
D. |Government of India IV |T. Raleigh

Choose the correct answer from the options given below:

AL B-IIL. C-1. D-IV
. A-L B-IL. C-IV. D-III
. A-IIL B-IV. C-II. D-I
A-IV. B-II. C-II1. D-I

O
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Yt 11 g 11 9 e siforg

R 1 (UG R 1g) | S 11 (AT S
A [are o= ﬂéqc—vﬁmn?ﬁmm
B. [l ®oid 1L [4Te Sfeied Adid
C. [fafera dic® 1 [s=g. S&g geX

D. [yRd PR v, [& 3

fafeiRad fas el O I 9l 3R &1 9ud Bifer -

1. A-IL. B-III. C-1. D-IV
2. AL B-II. C-IV. D-III
3. AL B-IV. C-II. D-I
4. A-IV. B-II. C-II1. D-I

Al
A2
H A3

A4

Objective Question

44904044 Gien below are two statements -

Statement I : Curriculum at Taxila was varied and included technical sciences.
Statement IT : Curriculum of Nalanda excluded technical sciences.

In the light of the above statements. choose the most appropriate answer from the options given below :

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect

3. Statement I 1s correct but Statement I is incorrect
4. Statement I 1s incorrect but Statement II is correct

TR srEfaume:
HYA 1 : A& H e fafde e o7 Sik IUH dd-ie! fag =i o
PYA 11 : ATdal & Uleshd H ddb-i! faxi= miid el 41

bJ =

SWRIK HY & {ediss 1, - f3u Ty fashedi ¥ 9 969 Sugad IR &1 98- Sifuig:

FYTI1 AR I A TA G
FUA1 IR 11 AT 3 &l

3. FYT 1T §, AT HYT 11 T &
4. FYT I T R, AFT P 1 I 8

b =

H Al
A2

A3
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Ay
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Objective Question

45 904045 Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.

Assertion A : It is expected that a maningful partnership will be formed between the states and the union
Government in managing Education.

Reason R : Education is coneurrent subject as per the constitutional amendment of 1976.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is not the correct explanation of A
A s true but R is false

. A is false but R is true

:ﬁﬁaﬁmﬁqw% Eﬁ&ﬁ-@ﬁ (AssemonA}%Wﬁﬁ@ﬂ%ﬁ@ﬂmm(ReasonR)%
U

HIUHUT A SOa & Il & [ e & vaem § 3sa) SR 99 WaR & dig ardfe fowert (i grft
|

BRUIR : oy FLe 1976 F AR, e g0ad g2t @1 fama g |

SWRIT B & el o, - 3T Y fabedl § 3 9y Sugad Gk &1 98- Siud |

=

AJRRIATE T IRR AT TS BN ©

AR R IH TE . AT R AP TR I TR ©
ATHEAPIR TR TR

AT TR APTIR TR

o =

5

H Al
A2
A3

Ay
4

Objective Question
46 904046
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Read the passage and answer the questions that follow:

Climate change will have broad impacts on human society. Changes projected to occur in the coming
century or two won't have the apocalyptic, civilization-destroying character of, say an all-out nuclear war or
a direct hit from a large asteroid.. But climate change will be disruptive in many ways to a civilization whose
planetary home is already under stress from the demands of billions of human beings.

The physical impacts of climate change won't be evenly distributed around the globe. Low-lying coastal
regions'. for example. will suffer more from sea-level rise; continental interiors will see more drought; and
high latitudes will warm disproportionately. For that, reason alone, impacts will vary from country to
country. But also alter the impact of a changing climate. social, political, and economic considerations That's
because wealthier countries are better able to adapt to and counter deleterious effects. Wealthy countries can
build protective seawalls to ward off the rising oceans; they can engineer massive water projects to ensure
continuing supplies of freshwater: they can outbid poorer countries if declines in domestic agriculture require
increased food .imports; their advanced health care systems can better cope with spreading tropical diseases;
and their robust economies can speed recovery from extreme weather events. We're forced to the
unfortunate conclusion that climate change will exacerbate the gap between rich and poor nations, as those
with the fewest resources will be the most vulnerable. This conclusion should be especially troubling because
anthropogenic climate change is almost "entirely the result of fossil fuel consumption, deforestation, and
other activities carried out by or for the benefit of the developed world.

Impact of climate change on human society will be -

. Inconsequential

. As disastrous as the impact of a nuclear war
. Disruptive

4. Mild

freforfad meiw @1 ufey. gzl & SR :

I B

T7-1d TS UR Sedr] YiRad- 1 o YT TS | STl Ydlsal 31 4 Rdifs3a T gfed gi-are vagid uRkad- 1 81 9d
TS T U1 U §gd 99 &% 98 P UIY 141d 9 yiawig ol 9wyl f[aAe Rl &1 ughi & =gl 8171 | tig widarg IRad— &g

OO T 3 9l & (AU fadse g o YH S 778 /Har Ugd 9 1 SRl AHaselid &1 BTl 9 a91a9% g

STerdTy UiRad & Hifde wHTa O fawa & 6 39 9 faafkd 781 8111 SareRumd 16 & &R W [&d iy &3 § 995 Sawr &
TG 9 P THAH 511l | HoTard e &7 e @I giil. 3o H&i IR S¥d $U I I 971 | 39 UhHH SR 4. T
S Y GO W T gSA ard gy § f=rar grft | g arEnsie, Aemifae SR i faart 9§ «f saarg 9Rad= & uya ¥ agag

BIA1 5| U8 DRI ¢ b TS 32 95k Do § 94 ¢ SR 5Ud a1e/d YHIG! BT I R ¢ | 95< ¥ 951 Sasr § gis

& ORI & o WeTd TG <R &1 Jad 6. d Y& ofd &1 gad SATIfd gHEad $=- & fau fawqa s/ aikarsst o1 fFan
TR IPbd ¢ G IR S Scded H iRTae 8 @rEFE 31ard 8 g S1awa g d TRIe 201 3 9gdR aidl @il 9ad g, S1d] 3=id
WA SEUTE UTTel gk o1 § SWUidfcatig & &t diH1ial &1 9me1 &3 Il 8. 3R 3701 Auqd JHJaaw 3@ e Gt
SMUEI3T | G T P 1 4RUTS doil § D Webdll ¢ | 56 54 gHivaguf feep fapra & e amer ST U & fob sieiarg

aRkad= ggs iR a3 & fia & siava &1 &g &1 3. O 6 4 321 5o ure a5 & e 8. 3 Iad e gae i

g fspd [qY9SHR Hyere o1 Ay Fifd i Sadrg URacd @iy 93 dRE 9 SaRd SU- SUMRTL a5 &1 delg /

farifepRun SR fasfiyd fava & 1w §q a1 [ae i fawa gR1 &1 715 39 gERl TTiafafedl &1 gfawd g

O7-d ST UR STadTyg aRacd a1 WHTd g

1. g
2. ANB g fora fawas
3. f[aueTaRI

4. §edT

Al
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Objective Question

47 904047 pead the passage and answer the questions that follow:

Climate change will have broad impacts on human society. Changes projected to occur in the coming
century or two won't have the apocalyptic, civilization-destroying character of, say an all-out nuclear war or
a direct hit from a large asteroid.. But climate change will be disruptive in many ways to a civilization whose
planetary home is already under stress from the demands of billions of human beings.

The physical impacts of climate change won't be evenly distributed around the globe. Low-lying coastal
regions', for example. will suffer more from sea-level rise; continental interiors will see more drought; and
high latitudes will warm disproportionately. For that. reason alone, impacts will vary from country to
country. But also alter the impact of a changing climate. social, political, and economic considerations That's
because wealthier countries are better able to adapt to and counter deleterious effects. Wealthy countries can
build protective seawalls to ward off the rising oceans; they can engineer massive water projects to ensure
continuing supplies of freshwater: they can outbid poorer countries if declines in domestic agriculture require
increased food .imports; their advanced health care systems can better cope with spreading tropical diseases;
and their robust economies can speed recovery from extreme weather events. We're forced to the
unfortunate conclusion that climate change will exacerbate the gap between rich and poor nations, as those
with the fewest resources will be the most vulnerable. This conclusion should be especially troubling because
anthropogenic climate change is almost "entirely the result of fossil fuel consumption, deforestation, and
other activities carried out by or for the benefit of the developed world.

In the context of climate change which among the following statements are not correct ?

A. Low-lying area will be threatened.

B. Agricultural production will be affected.

C. Developing countries will adapt better to it.
D. Health will be affected.

E. Developed countries will suffer less.

Choose the correct answer from the options given below :

. C and E only

. A, B and C only
. A, Cand E only
.A. D and E only

O
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Read the passage and answer the questions that follow:

Climate change will have broad impacts on human society. Changes projected to occur in the coming
century or two won't have the apocalyptic, civilization-destroying character of, say an all-out nuclear war or
a direct hit from a large asteroid.. But climate change will be disruptive in many ways to a civilization whose
planetary home is already under stress from the demands of billions of human beings.

The physical impacts of climate change won't be evenly distributed around the globe. Low-lying coastal
regions'. for example. will suffer more from sea-level rise; continental interiors will see more drought; and
high latitudes will warm disproportionately. For that. reason alone, impacts will vary from country to
country. But also alter the impact of a changing climate. social, political, and economic considerations That's
because wealthier countries are better able to adapt to and counter deleterious effects. Wealthy countries can
build protective seawalls to ward off the rising oceans; they can engineer massive water projects to ensure
continuing supplies of freshwater: they can outbid poorer countries if declines in domestic agriculture require
increased food .imports; their advanced health care systems can better cope with spreading tropical diseases;
and their robust economies can speed recovery from extreme weather events. We're forced to the
unfortunate conclusion that clinate change will exacerbate the gap between rich and poor nations. as those
with the fewest resources will be the most vulnerable. This conclusion should be especially troubling because
anthropogenic climate change is almost "entirely the result of fossil fuel consumption, deforestation, and
other activities carried out by or for the benefit of the developed world.

Climate change will impact the world

Uniformly

The developing world less
Disparately

The developed world more
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491904049 pead the passage and answer the questions that follow:

Climate change will have broad impacts on human society. Changes projected to oceur in the coming
century or two won't have the apocalyptic, civilization-destroying character of, say an all-out nuclear war or
a direct hit from a large asteroid.. But climate change will be disruptive in many ways to a civilization whose
planetary home is already under stress from the demands of billions of human beings.

The physical impacts of climate change won't be evenly distributed around the globe. Low-lying coastal
regions', for example. will suffer more from sea-level rise; continental interiors will see more drought; and
high latitudes will warm disproportionately. For that. reason alone, impacts will vary from country to
country. But also alter the impact of a changing climate. social, political, and economic considerations That's
because wealthier countries are better able to adapt to and counter deleterious effects. Wealthy countries can
build protective seawalls to ward off the rising oceans; they can engineer massive water projects to ensure
continuing supplies of freshwater: they can outbid poorer countries if declines in domestic agriculture require
increased food .imports; their advanced health care systems can better cope with spreading tropical diseases;
and their robust economies can speed recovery from extreme weather events. We're forced to the
unfortunate conclusion that climate change will exacerbate the gap between rich and poor nations, as those
with the fewest resources will be the most vulnerable. This conclusion should be especially troubling because
anthropogenic climate change is almost "entirely the result of fossil fuel consumption, deforestation, and
other activities carried out by or for the benefit of the developed world.

How will climate change affect the gap between the rich and poor countries?

. It will be increase the gap.

. It will reduce the gap.

. There will be no change in gap.
. It will bridge the gap.

Fa LD bD
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Read the passage and answer the questions that follow:

Climate change will have broad impacts on human society. Changes projected to occur in the coming
century or two won't have the apocalyptic, civilization-destroying character of, say an all-out nuclear war or
a direct hit from a large asteroid.. But climate change will be disruptive in many ways to a civilization whose
planetary home is already under stress from the demands of billions of human beings.

The physical impacts of climate change won't be evenly distributed around the globe. Low-lying coastal
regions'. for example. will suffer more from sea-level rise; continental interiors will see more drought; and
high latitudes will warm disproportionately. For that. reason alone, impacts will vary from country to
country. But also alter the impact of a changing climate. social, political, and economic considerations That's
because wealthier countries are better able to adapt to and counter deleterious effects. Wealthy countries can
build protective seawalls to ward off the rising oceans; they can engineer massive water projects to ensure
continuing supplies of freshwater: they can outbid poorer countries if declines in domestic agriculture require
increased food .imports; their advanced health care systems can better cope with spreading tropical diseases;
and their robust economies can speed recovery from extreme weather events. We're forced to the
unfortunate conclusion that clinate change will exacerbate the gap between rich and poor nations. as those
with the fewest resources will be the most vulnerable. This conclusion should be especially troubling because
anthropogenic climate change is almost "entirely the result of fossil fuel consumption, deforestation, and
other activities carried out by or for the benefit of the developed world.

Given below are two statements :

Statement I : The developed world can cope better with climate change.

Statement II : the developed world is largely responsible for climate change.

In the light of the above statements, choose the most appropriate answer from the options given below :

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I is correct but Statement II is incorrect
Statement I is mcorrect but Statement II is correct
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Objective Question

51 |04051 Vidya is the disciplined and systematic knowledge of the self and the environment attained

through precise observation and critical reasoning.

1. Adhibhoulika
2. Adhyatmika
3. Bhoutika
4. Atmika
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Objective Question

32904052 The Bhagvadgita has 18 chapters (Adhyaya) named after some form of Yoga. Which is not the correct adhyaya

out of the following?

1. Dhyana Yoga

2. Aksara-Brahma Yoga
3. Purugottama Yoga

4. Jagrata Yoga
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